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Metric mishap caused loss of
NASA orbiter

September 30, 1999
Wab postad at: $:31 p.m. EOT (3071 GHT)

I this story:
[ m HASA for m
uman

Eoror asinks 4 nation's convargion lsg
RELATED STORIES, S1TES %

& o

CAN Intavactive Saniss Wrtar

(CNN) =~ NASA lost a $125 millon Mars orbiter because a S A5
Lockheed Martin engineering team used English units of -
measurement while the agency's team used the more - N
conventional metric system for a key spacecraft operation, Ak &2MH g
according to & review finding released Thursday. —oi -
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The units mismatch prevertted navigation information from o
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transferting between the Mars Clmate Orbiter spacecraft team (25087231
in at Lockheed Martin in Denver and the fiight team at NASA's
Jet Propuision Labaratory in Pasadena. California.
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